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BCA. Examination 2018-2019

(Even Semester)

SOFTWARE ENGINEERING

Time : Three Hours] [Maximum Marks :60

Note :— Attempt all questions.

SECTION -A
I. Attempt all parts of the following : 8x 1=8

(a) What are the conditions when software is
considered failed?

(b) Define software process.

(c) Name the life cycle model known as 'Define
before design.

(d) Define Feasibility Study.
(e) Whatis Cohesion?
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(b) Describe the concept of module weakness. [s i
applicable to program also?

(¢) Shoulda development organization adopt a single
process model for all its software development?
Discuss the pros and cons.
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